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301 EtE NS 100,000 100,000 0
s 100,000
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O FelE ESwA MM
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307 elztol & 79,4% 799,4% 0
= 799,4%
05 2IR”IRIE = 600,000 600,000 0
O =2ltd 252 &
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= 150,000
& 75,000
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[Ea 2,429,214
OlS=XAE 28X 2,976,699 2,771,997 204,702
= 161,937
= 858,903
== 491,281
[Ea 1,464,578
XeotsHE 23H XNJA(Z/XE) 214,000 1,119,966 905,966
= 107,000
=S 32,100
s 74,900
307 @I2to| & 214,000 1,119,966 A905,966
[ 107,000
= 32,100
Ea 74,900
10 AlISXAAEEHE 22X 214,000 1,119,966 A905,966
O XgotsHe 24gHl XA
214,000,000 214,000
[ 107,000
= 32,100
[Ea 74,900
XotsHE old] XJ(Z/XS) 1,034,040 0 1,034,040
[ 517,020
= 155,106
[Ea 361,914
307 el2to| & 1,034,040 0 1,034,040
[ 517,020
S 155,106
= 361,914
10 Al SXAEEHE2EHI2x 1,034,040 0 1,034,040
O X<otsHlE el2idl K&
1,084,040,000& 1,034,040
= 517,020
< 185,106
s 361,914
OtsSSXILAL AKX (XIS) 133,766 138,507 N4, T
= 66,883
< 20,065
= 46,818
101 @124H| 133,766 138,507 N4 TA
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== 20,065
o 46,818
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M IIRINZ2Z2XSEs 104,195 108,936 AT
O Ot==XIw AL 2124H|
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= 15,629
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= 3,000
= 3,000
307 212+01 A 12,000 18,000 6,000
= 6,000
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10 IS SXAIEHE2ZHIEX 12,000 18,000 26,000
O E==328g FIH&
8,400,000& *17H 2= 8,400
= 4,200
& 2,100
= 2,100
O EQ2g FIHKE
3,600,0002*1JH 2 3,600
= 1,800
& 900
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XSots4dlE Ol=0ts &tote & Xl X2 10,350 11,000 ABE0
301 L2 Z 2,250 2,000 250
11 HAAHIXIE S 2,250 2,000 250
O XNYG0ts4HIE 0l=0ts 8tOtE &XI &3
At 2HAH| 9,000& 250 2,250
307 gI2tol ™ 8,100 9,000 A900
04 QIZESHAAIS E X 8,100 9,000 A900
O XY0ts4H 0180ts etite &Xl 29
A& 3,600,000& 3,600
O XNE0tsHE SALA f24
4,500,000 4,500
XEotsdE 29 XA AIE (=) 556,851 488,528 68,323
& 121,097
i 435,754
301 LPBNF 97,440 25,920 71,520
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M OtsHE=Y
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< 29,232
s 68,208
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O BANT SEag
90,0002 x28H « 12 30,240
= 9,072
Ea 21,168
O o2l 28
200,000 x28EH «12& 67,200
< 20,160
Ea 47,040
307 212t01d 459,411 462,608 A3,197
= 91,865
o 367,546
10 MEISXAIEHE2EHIEX 459,411 462,608 A3,197
O 0lg oks 24l N
1,960,000 x200&H 392,000
=S 78,400
= 313,600
O 224l X& 45,055,000 45,055
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O Sa&=20 X
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o 15,649
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402 QI>F X201 & 20,000 0 20,000
= 6,000
= 14,000
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O XNEotsHE el X3
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o 14,000
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01 =LHOLI 900 900 0
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O QESSIEE 2 XIA(e1Ad])
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O LESSIEE 29 NMXIA(SAK
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i 10,332
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O Uetn=ss4dy elAdbl XI&
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M OtsHE=Y
el OlsdE=sd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Hi?Iz=s XI& 5,280,000 5,280
= 1,584
= 3,696
O && M=dl X 2,200,000 2,200
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s 1,540
JHERIEols Adi2EE XA (=4]) 1,857 1,644 213
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= 1,300
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01 Al EE A S (2 RDEEMA) 1,857 1,644 213
O JIE9IE0ts doi28= N&
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[Ea 390
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O & HEEXHE 2 XA
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FAEXS Ot MEXIA(=4]) 2,050 2,080 0
= 1,435
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307 212+01& 2,050 2,050 0
= 1,435
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10 AlRISXAZEE 22X 2,050 2,080 0
O ZAEXs Ot MHEXE(HdEBAHIE)
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= 27
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O ZAEXs ot MHEXIZ (Atdl2teldl)
1,750,000& 1,750
= 1,225
= 157
o 368
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307 elztol & 10,000 10,000
04 QIZHHAMALH 2 & 10,000 10,000
O oelole AKX 10,000,000 10,000
BIIS CEJAHAEY 2F(=H]) 34,133 38,400 N4, 267
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o 23,893
307 @12t0| & 34,133 38,400 N4,267
== 10,240
o 23,893
02 LB HAHE L 34,133 38,400 N4,267
O EEIAEe 238l X
34,133,000 * 10 2~ 34,133
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101 @124H| 133,900 133,900 0
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< 8,034
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O OtSSEAtdIZ2IAL Q12|
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s 11,072
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= 8,000
= 600
o 1,400
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O OIS 2 0l0f, 42 S 22X
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= 8,000
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o 1,400
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= 120
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[ 1,600
= 120
[Ea 280
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